Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2018

Subject Name : Applied Physics

Subject Code :2TE02APH1 Branch: Diploma (All)
Semester : 2 Date : 25/10/2018 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions: (14)

a) The unit of frequency is

(A) second (B) Hertz
(C) metre (D) metre-second
b) The velocity of sound is maximum in
(A) Water (B) Air
(C) Vacuum (D) Metal
c) 10nm= m.
(A) 10 (B) 10”7
(C) 107 (D) 100
d) Sl unitof Force is .
(A) Kglsec (B) Newton
(C) Dyne (D) None of the above
e) 1A°= metre
(A) 107 (B) 10
(C)10™ (D) 10°®
f)  Inan P-type semiconductor electrons are and holes are
(A) Majority, Majority (B)Minority, Minority
(C) Minority, Majority (D) Majority, Minority
9) Waves are not pass threw Space.
(A) Transverse (B) Longitude
(C) A&B (D) None of the above
h) A transistor has .
(A) One PN junction (B) Two PN Junction
(C) Three PN Junction (D) Four PN Junction
i) Who invented nuclear fission?
(A) Rutherford (B) Hans Bethe
(C) Otto Hahn (D) Marie Curie
j)  The element that has the biggest size in a transistor is
(A) Collector (B) Emitter
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K)

(C) Base (D) None of these

A transistor is a operated device.

(A) Current (B) Voltage

(C) Power (D) None of these
The algebraic sum of voltages around any closed path in a network is equal to
(A) infinite (B) Zero

(C) One (D) None of these

In a nuclear process, quantity conserved is

(A) Energy only (B)Mass Only

(C) Momentum (D) Mass and Energy
1 Newton = daien.

(A) 10° (B) 10°

(C) 10’ (D) 10”7

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-8
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Attempt all questions

Explain Vernier Calipers.

Explain Micrometer Screw Gauge.

Attempt all questions

Explain the series and parallel combination of a resistance.
Give the statement of Newton’s second law of motion and derive the formula
F=ma.

Attempt all questions

Write a note on Redwood viscometer.

Explain any one method of production of Ultrasonic waves.
Attempt all questions

Write a note on Nuclear reactor.

Explain I/P and O/P characteristics of NPN semiconductor transistor in details.

Attempt all questions

Explain angle of contact with necessary diagram.

Explain factors affecting reverberation time and Accoustics of Building
Attempt all questions

Explain Inter Molecular Force of attraction.

Write application of Ultrasonic Waves.

Give the applications of Nano Technology in Engineering Field.

Attempt all questions

Explain the laws of Radioactivity with necessary formula.

Explain VI Characteristics of PN Junction Diode.
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Q-1

b)

f)

9)

h)

)

K)

oy6¥ldl

o{lAell YAl oll cllol WL

2Ugd L 2isH £,
(A) s (B) &2
(C) ¥z (D) Hl2z - As3

Hi e ] gy Aldl asiz sia 9.
(A) el (B) «al
(C) 9-uaslal (D) 14,
10nm=___ m
(A) 10°® (B) 107
(c)10° (D) 10
SIyfz Hi 512 Ul 2154 8.
(A) Baas. (B) <42
(C) <15 (D) wis uiL <l
1A= metre
(A) 10 (B) 10
(C) 10*° (D) 10°®
P-Usl2l 248Alss Hi GREARE R Sld ¢t 9.
(A) Hsx12l2], HerizlZl (B) H1S1EZ], HiS-1l2)
(C) HSIRIZL, HorilZL (D) HsyiZl2l, HIIZ1ZL

AL ZeAas1el Hizdl w12 A5 wsdl 42l
(A) Hold (B) dotdld
(C)A 4B (D) sisunL <ls.

2222 i gl 9.
(A) »15 PN sy5914, (B) 6 PN 6591,
(C) ABL PN 6¥52l (D) 12 PN 6¥5%
YUY [Fudl 2im 510l 53 dl ?
(A) 222518 (B) i ol
(C) »liz2l leet (D) #3l 4R
), zi[zarHi Aidl Hizl 58 414 9.

(A) sds22 (B) »idlez
(C) ol (D) sisupl Als.
zifrzez ot A Gusze &9
(A) (=244 uals (B) alc2sy
(C) ulaz (D) sisupL .
29541 SIOUBL 6f8, Uil 2UAUR dleordl AU SiAL 9.
(A) wid (B) 44
(C) »is (D) visuwl <ls.
YHIY UM, dulsd oreal 8.

(14)
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(A) 554 GloAni (B) 554 vi2[Hs sraal Hi

(C) 55 AldHi (D) Gloa w wi2[Hs o2l Hi
N 14 = 4o,
(A) 10° (B) 10°
(C) 10’ (D) 10”7

Q-2 4l Q-8 uadlnigl SISUBL 4 UaAlAL S¥aLeL UL,

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7
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LAl Ul <AL syatloL AL

ald1z 5(qud (A2 uHmal.

HI51Hl22 25 Aoy (49 UHMAlL

1AL Ul <AL syaloL AL,

219204, HIZ A0 21 UHIdR o710 U1,

A2, <l Ald Hi2 AL oilorl (424, Quil. vid F=ma Y d1zdl.
{12l U8l €l sxaL6L VUL

g [Asidler (A9 qumal

vezldllAs Aol Al Geuledsil 55U 21 4. (A9 srpual.
LAl Ul <AL syatLoL AL

5212 [Ro1522 (49 YHMAL

NPN Mss522 21222l 1 / P 24 O / P clai[Bisdizil 4HmmAl.
LAl Ul <AL syatLoL AL

o133l ws(d W12 Vviold Hls slezs2’ UHMAL

ALY AHA Dt H51eAl <{l ealasdl 4 2042 5341 uReioll (42 A4mal
{12l U8l €Ul exaLoL VUL

22 HIAER 514 25 22524 UHAAL

we2lAUAs ALl <L GluAiRlL quil.

vifoy[aa[201L 83 Al 254142 il Glwaielldlzil uHmdl
{1l Ul <AL syaloL AL

2L 52A12] AL [l Yol 112 -l

PN sysa1, g14ls <l VI clailinsl i<l a4emdl.
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